(N) = (25+1) 
$$\frac{1}{k} \frac{1}{e^{\beta(k\bar{k}-m)-1}}$$

$$= (2)+1)(\frac{L}{2\pi})^{d} S_{d-1} \int dk k^{d-1} \frac{1}{e^{\beta(k\bar{k}-m)-1}} \qquad S_{d-1} \stackrel{?}{=} Surface d$$

$$= 4-imagnolum 1 sphere$$

$$k = \frac{1}{t} \left( \frac{\xi}{A} \right)^{\frac{1}{t}} \qquad dk = \frac{\xi^{\frac{1}{t}-1}}{t + A'/t} d\xi$$

$$\langle N \rangle = (254) \left(\frac{L}{2\pi}\right)^d S_{d-1} = \frac{1}{2} \left(\frac{1}{t_A} \frac{1}{t_E}\right)^d \int d\xi \quad \xi \quad \frac{d/\xi^{-1}}{\ell^2 S_{\ell}(\xi-\mu)^{-1}}$$

$$g(\xi) = (25t) \frac{L^{d}}{(2\pi)^{d}} S_{d-1} \frac{1}{2 t_{1}^{d} A^{d/2}} \xi^{d/2-1} = VB \xi^{d/2-1}$$

Set 
$$p = 0$$
 $\langle N_{max} \rangle = VB \int_{0}^{\infty} dE E \frac{d/t-1}{e^{\beta E} - 1} \frac{1}{e^{\beta E} - 1} \frac{x = \beta E}{dE = k_{B}T dx}$ 
 $= VB \left(k_{B}T\right)^{d/t} \int_{0}^{\infty} dx \frac{x d(t-1)}{e^{x} - 1}$ 
 $BE$  condensation if integral converges upper some  $s$  integral  $s = 0$  converges

 $s = 0$ 

lower Sound: 
$$\int_{0}^{\infty} dx \times \frac{d/z-2}{d} = \int_{0}^{\infty} \frac{d}{2} = \int_$$

(2)

$$N = V3 \left( k_{\partial} T \right)^{d/2} \cdot I$$

$$k_{\partial} T_{c} = \left( \frac{N}{VBI} \right)^{\frac{2}{d}/2}$$

$$\langle E \rangle = \int d\varepsilon \, g(\varepsilon) \, \frac{\varepsilon}{e^{\beta \varepsilon} - 1} = V B \left( k_{\beta T} \right)^{d/2 + 1} \int_{0}^{\infty} \frac{x^{d/2}}{e^{x} - 1}$$

$$= V B \left( k_{\beta T} \right)^{d/2 + 1} \cdot \overline{L_{Z}}$$

$$C_{V} \sim \frac{\partial \langle E \rangle}{\partial T} = \left(\frac{d}{2} + 1\right) \langle \frac{E}{T} \rangle \sim T^{d/2}$$

e) 
$$S = \int_{0}^{T} dT' \frac{Cv'}{T'} = \frac{2}{d} \left(\frac{d}{2} + i\right) \left(\frac{E}{T}\right) = \left(1 + \frac{2}{d}\right) \left(\frac{E}{T}\right)$$

$$A = \langle E \rangle - TS = -\frac{2}{d} \langle E \rangle$$

$$P = \left(-\frac{\partial A}{\partial V}\right)_{T} = \frac{2}{d} \langle E \rangle / \sqrt{T} = \frac{2}{d} \langle E \rangle / \sqrt{T}$$

$$u(\varepsilon) = \frac{1}{\pi^2 t_n^3} \left( \frac{\varepsilon^3}{e^{\beta \varepsilon} - 1} \right)$$

maximum
$$\frac{d}{d\epsilon} \frac{\epsilon^{3}}{e^{\beta \epsilon} - 1} = \frac{3\epsilon^{2}}{e^{\beta \epsilon} - 1} - \frac{\beta \epsilon^{3} e^{\beta \epsilon}}{(e^{\beta \epsilon} - 1)^{2}}$$

$$= \frac{3\epsilon^{2}(e^{\beta \epsilon} - 1) - \beta \epsilon^{3} e^{\beta \epsilon}}{(e^{\beta \epsilon} - 1)^{2}} \stackrel{!}{=} 0$$

$$3e^{\beta \epsilon} - 3 = \beta \epsilon e^{\beta \epsilon}$$

$$\frac{Solve}{3(e^{\chi} - 1)} = \chi e^{\chi} \Rightarrow \chi = 7.8214$$

$$\xi = 7.8214 k_{B}T = 1.17 \cdot 10^{-22} Ws$$

$$\xi = hw = 2\pi hv = \frac{2\pi hc}{\lambda} \qquad w = 1.11 \cdot 10^{12} s^{-1}$$

$$\lambda = \frac{2\pi hc}{\epsilon} = 1.7 mm$$

## Problem 10.3

a) energy density 
$$M(\xi)$$

$$M(\xi) = \frac{1}{\pi^2 c^3 h^3} \frac{\xi^3}{e^{\beta \xi} - 1}$$

maximum at  $\frac{du}{d\xi} = 0$ 

$$\frac{d}{d\varepsilon} \frac{\varepsilon^3}{e\beta \varepsilon_{-1}} = 0 \quad \Rightarrow \quad \frac{d}{dx} \frac{x^3}{e^{x_{-1}}} = 0$$

$$\frac{3x^{2}}{e^{x-1}} - \frac{x^{3}e^{x}}{(e^{x}-1)^{2}} = 0 \implies 3x^{2}(e^{x}-1) = x^{3}e^{x}$$

$$\beta \epsilon_{mex} = 2.82$$

$$\overline{I_{3d}} = \frac{\epsilon_{max}}{2.82 lig} \approx 3290 \text{ K}$$

$$P_{Bu} = 4\pi G^{1}_{Bu} \times \frac{\pi^{2}}{60} \frac{(407)^{4}}{4^{3}c^{2}}$$

$$\Gamma_{BU} = \sqrt{\frac{15}{113}} \frac{{t_3}^3 c^2}{({u_3} \tau)^4} \rho_{BUS} = 2.15 \times 10^{11} \text{ m}$$